Chem 333]  Exam 3, 2005
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3} Complete the syntheses shown below using common organic and inorganic reagents. be sure to include
prolectmg groups wen required. If your synthesis requires more than -ONE slep, you must write the
product of each step. You do not have to include aqueous work up conditions in your syntheses,
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5} Identify the repeating unit the polyrer shown below by numbering the atoms I-n in one of the
repeating units (3 pis), y
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7) Convert the Fisher projections shown below 1o the zig-zag conformation (10 pis).

CHO
L

H ==

HO—
CH30OH

B) Is the s D-or L- sugar (2 pts)?
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9) Certain bacteria contain an cnzyme called transpeptidase which cross-links bacterial cel] walls. Do the
B-lactam antibiotics such as penicillin inhibit this enzyme (yes or no, 2 pls)?

T

10) Certain bact&rii Contain an enzyme called (B-lactamase which hydmlﬁs B-lactams. Do the f-lactam

antibiotics such as penicillin inhibit this enzyme (ves or no, 2 pis)?

11) Are the B-lactams more or less reactive towards nucleophilic attack than ordinary amides (indicate

more or fess, 2 pts)?
z

The structure of penicillin is shown below
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